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abstract
I published the odd value formula for ζ, but I realized that this was true even when it was even.

Therefore, it will be announced.
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1 Introduction

I made official previous paper[1].

ζ(2m− 1) =
22m−1

22m−1 − 1

∞∑
n=1

1

(2n− 1)2m−1
(1)

m is a positive integer.
This formula holds for odd numbers, but it may hold for even numbers.

In this case, the formula is transformed as follows:

ζ(2m) =
∞∑
n=1

1

(2n− 1)2m
+
∞∑
n=1

1

(2n)2m
=

1

22m

∞∑
n=1

1

n2m
+
∞∑
n=1

1

(2n− 1)2m
=

1

22m
ζ(2m) +

∞∑
n=1

1

(2n− 1)2m

(2)

(1− 1

22m
)ζ(2m) = (

22m − 1

22m
)ζ(2m) =

∞∑
n=1

1

(2n− 1)2m
(3)

ζ(2m) =
22m

22m − 1

∞∑
n=1

1

(2n− 1)2m
(4)

m is a positive integer.
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If m=1

ζ(2) =
22

22 − 1

∞∑
n=1

1

(2n− 1)2
=

4

3

∞∑
n=1

1

(2n− 1)2
(5)

If ∞=10
ζ(2) ≈ 1.6116284148285175254044337761642012067446439817905423275312209694238....
If ∞=20
ζ(2) ≈ 1.628270869371572772206131131338932788062642746620939996574291345189...
If ∞=30
ζ(2) ≈ 1.6338239841439592336299402353995979381329555737254701288214903553763...
ζ(2) = 1.64493406684822643647241516664602518921894990120679843773555822937...
∞=30 seemed to be the limit of the calculator.

If m=2

ζ(4) =
16

15

∞∑
n=1

1

(2n− 1)4
(6)

If ∞=10
ζ(4) ≈ 1.0823011216418365875799153826862945113112122434880758654972213594...
If ∞=20
ζ(4) ≈ 1.082320459398015020659441963503798624039413318397956577979066575070...
If ∞=30
ζ(4) ≈ 1.082322411122674253866274278996655718012453768878275375647387105547...
ζ(4) = 1.08232323371113819151600369654116790277475095191872690768297621544412...
∞=30 seemed to be the limit of the calculator.

If m=3

ζ(6) =
64

63

∞∑
n=1

1

(2n− 1)6
(7)

If ∞=10
ζ(6) ≈ 1.0173430306289101083840264589830502544787150656737540989578859297...
If ∞=20
ζ(6) ≈ 1.017343060995473261375938647877506866869711618696998641526975803359...
ζ(6) = 1.0173430619844491397145179297909205279018174900328535618424086640043...
∞=20 seemed to be the limit of the calculator.

If m=4

ζ(8) =
256

255

∞∑
n=1

1

(2n− 1)8
(8)

If ∞=10
ζ(8) ≈ 1.00407735614319594772103367496143510509275554360165468504487008824...
If ∞=20
ζ(8) ≈ 1.00407735619750920080256021529734942283579874001636003481027344361...
ζ(8) = 1.0040773561979443393786852385086524652589607906498500203291102026525...
∞=20 seemed to be the limit of the calculator.

If m=5

ζ(10) =
1024

1023

∞∑
n=1

1

(2n− 1)10
(9)
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If ∞=10
ζ(10) ≈ 1.00099457512771339559688365480139342330430075890141540522678006600...
ζ(10) = 1.000994575127818085337145958900319017006019531564477517257788994...
∞=10 seemed to be the limit of the calculator.

If m=6

ζ(12) =
4096

4095

∞∑
n=1

1

(2n− 1)12
(10)

If ∞=10
ζ(12) ≈ 1.000246086553307837898350728937608769939875657839099331899582091846...
ζ(12) = 1.000246086553308048298637998047739670960416088458003404533...
∞=10 seemed to be the limit of the calculator.

If m=7

ζ(14) =
16384

16383

∞∑
n=1

1

(2n− 1)14
(11)

If ∞=10
ζ(14) ≈ 1.00006124813505870439302578299773097086267582551027957641295380492...
ζ(14) = 1.0000612481350587048292585451051353337474816961691545494827552022...
∞=10 seemed to be the limit of the calculator.

If m=8

ζ(16) =
65536

65535

∞∑
n=1

1

(2n− 1)16
(12)

If ∞=8
ζ(16) ≈ 1.000015282259408651846791233879881425608206629264990534917564141014...
ζ(16) = 1.0000152822594086518717325714876367220232373889904715311531052035887...
∞=8 seemed to be the limit of the calculator.

If m=9

ζ(18) =
262144

262143

∞∑
n=1

1

(2n− 1)18
(13)

If ∞=8
ζ(18) ≈ 1.000003817293264999839773763393535022953556904949205416698268694485...
ζ(18) =1.000003817293264999839856461644621939730454697218953331143174429...
∞=8 seemed to be the limit of the calculator.

If m=10

ζ(20) =
1048576

1048575

∞∑
n=1

1

(2n− 1)20
(14)

If ∞=8
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ζ(20) ≈ 1.00000095396203387279611287506829811114176615017147477552008915142...
ζ(20) =1.0000009539620338727961131520386834493459437941874105957500564898...
∞=8 seemed to be the limit of the calculator.

If m=11

ζ(22) =
4194304

4194303

∞∑
n=1

1

(2n− 1)22
(15)

If ∞=8
ζ(22) ≈ 1.000000238450502727732990002713644958503415061489371584207142707429...
ζ(22) =1.00000023845050272773299000364818675299493504182177965826984960...
∞=8 seemed to be the limit of the calculator.

If m=12

ζ(24) =
16777216

16777215

∞∑
n=1

1

(2n− 1)24
(16)

If ∞=8
ζ(24) ≈ 1.00000005960818905125947961243703694927126322746933684956907465721...
ζ(24) =1.000000059608189051259479612440207935801227503918837302795864246...
∞=8 seemed to be the limit of the calculator.

If m=13

ζ(26) =
67108864

67108863

∞∑
n=1

1

(2n− 1)26
(17)

If ∞=6
ζ(26) ≈ 1.00000001490155482836504123464733064773756513297654870572919271493...
ζ(26) =1.00000001490155482836504123465850663069862886478816788591054743...
∞=6 seemed to be the limit of the calculator.

If m=14

ζ(28) =
268435456

268435455

∞∑
n=1

1

(2n− 1)28
(18)

If ∞=6
ζ(28) ≈ 1.00000000372533402478845705481913830414006066822530605696055267430...
ζ(28) =1.000000003725334024788457054819204018402423232893059295811519769...
∞=6 seemed to be the limit of the calculator.

If m=15

ζ(30) =
1073741824

1073741823

∞∑
n=1

1

(2n− 1)30
(19)

If ∞=6
ζ(30) ≈ 1.0000000009313274324196681828717643479994821243288347022605477024...
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ζ(30) =1.0000000009313274324196681828717647350212198135679551368161850086...
∞=6 seemed to be the limit of the calculator.

2 Conclusion

The odd formula for ζ has been released, but it has become clear that this is true even when it is even.

3 Appendices

I use WolframAlpha for calculation.
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